

To:

All Saints Church

From:

Marshfield Associates

Date:

June 2018

As stock pickers, we believe that over the long term, our stocks move ahead or astern based upon their fundamentals. Growth in earnings and the generation of robust free cash flow over time are the currents that propel them forward. In the short term, however, the buoyancy of their share prices can be affected by many things, some of which turn out to be irrelevant to those fundamentals and some of which, though relevant, are misunderstood by stock market participants in their haste to respond to new information. While this informational chop eventually tends to sort itself out, interim volatility can make for a queasy ride along the way.

Last year, our stocks benefited from the enactment of tax legislation that significantly reduced the tax rates of many of our companies. The market, by and large, understood the impact of those changes and factored them in quickly and efficiently. This year, however, the water is muddler and clarity harder to come by as a result of confused/confusing executive branch actions on trade. Tariffs imposed (or threatened), retaliatory actions taken (or threatened), and multilateral trade pacts hanging in the wind have collectively created unexpected eddies in what had been fairly calm waters. Our industrial holdings (Cummins, Deere, Fastenal and Waters) were, accordingly, tossed about this quarter on swells of anxiety about import restrictions (e.g., if China won't import American soybeans, that hits farmers, which in turn affects Deere) and steel, aluminum, and other import restrictions (which would increase input costs for U.S. machinery makers, making them less competitive versus their overseas rivals). While it is impossible to know what the net impact of these trade barrier skirmishes will be, history and economics provide some guidance. First, markets tend to equilibrate. If China can't get its soy from the U.S., it will get it from someplace else, forcing the existing customers of their new suppliers to themselves find a new supplier such as...the U.S. This is precisely what happened in 1980 with President Carter's embargo on selling feed grain to Russia. In the wake of that embargo, global feed grain sourcing patterns abruptly changed, resulting in a surge in U.S.-sourced grain orders from countries that historically had bought their grain elsewhere. Second, companies adapt. Harley-Davidson moving some of its production to Europe is but one example. Is that optimally efficient? No, but it's a marginal change that helps dampen the impact on the company. And third, it's foolish to believe that only companies on the front lines of a trade war would be affected by one. The inefficiencies and friction costs begat by such a development inevitably seep into the broader economy in the form of higher costs and lost wages.

Many of our firms (most notably Deere and Cummins) have complex international supply chains that might suffer temporary disruption if the relative cost of some inputs in some locations rose sharply (as with steel in the U.S.), but they would likely adjust pretty well to any permanent shift. Indeed, one of the reasons we pay so much attention to both the resiliency of our companies' business models and to the quality of their management is that *bilge* happens, and the better the company is at bailing any water they take on (through no fault of their own), the better their ability not only to stay afloat but to continue to move forward.

CC:

Robert O'Connell H. Todd Miller Parish Treasurer G. Cabell Williams Robert Johnston Senior Warden Rev. Edward Kelaher Nancy Wilkinson

Marshfield Associates All Saints Columbarium Fund ACCT # 95600810

June 30, 2018

PORTFOLIO COMPOSITION

CHANGE IN PORTFOLIO

	Market Value	Pct. Assets	Est. Income		
Cash Equivalents Fixed Income Equities Mutual Funds Other	73,666.39 0.00 331,315.29 -0.00 0.00	18.2 0.0 81.8 0.0 0.0	643 0 3,404 0 0	Portfolio Value on 03-31-18 Net Additions/Withdrawals Realized Gains Unrealized Gains Income Received Management Fees	406,252.25 -8,853.51 415.99 6,940.24 1,242.34
Total	404,981.68	100.0	4,047	Portfolio Value on 06-30-18	-1,015.63 404,981.68
			1,00	Total Fees	-1,015.63

TIME WEIGHTED RETURN

	Quarter To Date	Year To Date	Inception 02-13-08 To Date
Account	1.86	2.90	160.53
Equities S & P 500	2.58 3.43	3.82 2.65	210.70 148.56

Marshfield Associates PORTFOLIO APPRAISAL

All Saints Columbarium Fund ACCT # 95600810

June 30, 2018

Quantity	Security	Unit Cost	Total Cost	Price	Market Value	Pct. Assets I	Unit Income	Annual Income	Cur. Yield
CASH	Cash		41,757.68		41,757.68	10.3	0.150	62.64	0.1
	Cash	1	41,757.68		41,757.68	10.3	-	62.64	0.1
MONEY MAF	RKET Vanguard Treasury Money Market Fund		31,908.71		31,908.71	7.9	1.820	580.74	1.8
	Money Market Fund		31,908.71	٠	31,908.71	7.9	-	580.74	1.8
COMMON S	тоск	_		00.40	40.845.00	4.9	0.000	0.00	0.0
750	Arch Capital Group Ltd	8.52	6,387,71	26.46	19,845.00				
	Autozone Inc. Chipotle Mexican Grill Cl A	552.06 347.82	15,457.75 19,477.84	670.93 431.37	18,786.04 24,156.72		0.000	0.00	0.0
125 152	Cummins Inc	102.29 82.66	12,786.18 12,564.99	133.00 139.80	16,625.00 21,249.60		4.320 2.760	540.00 419.52	
281		39.19	11,011.94	73.10	20,541.10			252.90	
325	Fastenal Co	31.00	10,074:17	48:13	15,642.25 25,144.98		1.280 3.200	416.00 364.80	
114	Goldman Sachs Group Inc	134.10	15,287.91	220.57	25,144.50				
103	Mastercard Inc	37.03	3,813.68	196.52	20,241.56		1.000	103.00	
222	Moody's Corp.	43.64	9,689.10	170.56	37,864.32			337.44 0.00	
3 55	NVR Inc O'Reilly Automotive Inc	531.98 176.02	1,595.94 9,680.85	2,970.35 273.57	8,911.05 15,046.35			0.00	0.0
159	Ross Stores Inc	46.81	7,443.50	84.75	13,475.25			143.10	
120		50.89	6,106.24	113.01	13,561.20			120.00	
160	Union Pacific Corporation	59.48	9,517.36	141.68	22,668.80	5.6	2.920	467.20	2.1
140	Visa Inc CI A	37.21	5,209.48	132.45	18,543.00		0.840	117.60	
57	Waters Corp	75.07	4,278.73	193.59	11,034.63		0.000	0.00	
102	YUM! Brands Inc	21.56	2,199.40 162,582.77	78.22	7,978.44 331,315.29		1.200	122.40 3,403.96	
	3,1		102,302.77		001,010.00				*
TOTAL PO	RTFOLIO		236,249.16		404,981.68	3 100.0)	4,047.34	1.0

For Information Only
Official records for the account provided by custodian.
Contact reports@marshfieldinc.com with any questions.

All Saint's Church Perpetual Memorial Fund ACCT # 95600809

June 30, 2018

PORTFOLIO COMPOSITION

CHANGE IN PORTFOLIO

	Market Value	Pct. Assets	Est. Income		
Cash Equivalents Fixed Income Equities Mutual Funds Other	96,229.49 436,458.27 1,188,367.75 0.00 0.00	5.6 25.4 69.0 0.0 0.0	144 12,982 11,388 0	Portfolio Value on 03-31-18 Accrued Interest Net Additions/Withdrawals Realized Gains Unrealized Gains Income Received Management Fees Change in Accrued Interest Portfolio Value on 06-30-18 Accrued Interest	1,697,330.77 3,057.51 -169.26 0.00 17,477.65 7,590.82 -3,725.68 -506.31 1,718,504.30 2,551.20
Total	1,721,055.51	100.0	24,515	7(00) 000 111(0100)	1,721,055.51
				Total Fees	-3,725.68

TIME WEIGHTED RETURN

	Quarter To Date	Year To Date	Inception 09-27-05 To Date
Account	1.23	1.89	183.49
Equities · S & P 500	2.05	3,27	264.96
	3.43	2,65	189.34
Fixed Income	0.13	-0.70	61.72
Barclays Interm. Gov/Credit	0.01	-0.97	53.99

Marshfield Associates PORTFOLIO APPRAISAL

All Saint's Church Perpetual Memorial Fund ACCT # 95600809

June 30, 2018

Quantity	Security	Unit Cost	Total Cost	Price	Market Value	Pct. Unit Assets Income	Annual Income	Cur. Yield
CARL								
CASH	Cash		96,229.49		96,229.49	5.6 0.150	144.34	0.1
	OBSIT	-	96,229.49	_	96,229.49	5.6	144.34	0.1
	ENT BONDS			400.00	00.000.76	1.2 2.250	450.00	2.2
20,000		103.67	20,733.59	100.03	20,006.76	1.2 2.250	450.00	2.2
	Note	10						
40.000	2.250% Due 07-31-	99.76	9,976.17	99.96	9,996.44	0.6 1.375	137.50	1.4
10,000	U.S. Treasury Note	55.70	3,570.77	00.00	0,000			
	1.375% Due 07-31-	18						
25.000	U.S. Treasury	103.14	25,784,18	100.31	25,077.15	1.5 2.750	687.50	2.7
,	Note							
	2.750% Due 02-15-			00.40	04.050.45	1 4 1 275	343.75	1.4
25,000	U.S. Treasury	99.93	24,982.42	99.43	24,856.45	1.4 1.375	545.75	1.7
	Note	3 8				W 57		
	1.375% Due 02-28-		25,006.84	97.51	24,377.92	1.4 1.125	281.25	1.2
25,000) U.S. Treasury Note	100.03	20,000.04	31.01	2 1,011110			
	1.125% Due 04-30-	-20						
10.000	U.S. Treasury		10,307.03	101.76	10,175.78	3 0.6 3.500	350.00	3.4
10,000	Note				2,000			
	3.500% Due 05-15	-20					227 50	2.4
10,00	U.S. Treasury	99.77	9,976.56	99.48	9,948.05	5 0.6 2.375	237.50	2.4
65	Note							
	2.375% Due 12-31		27,405.75	102.50	25,625.8	5 1.5 3.625	906.25	3.5
25,00	D Federal Home	109.62	27,405.75	102.50	25,025.0	0 1.0 0.020		
	Loan Bank 3.625% Due 06-11	_21						
10.00	0 U.S. Treasury		10,115.63	98.05	9,805.0	8 0.6 2.000	200.00	2.0
10,00	Note	, , , , , ,						
	2.000% Due 08-31	-21				- 44 040	524.00	5 2.2
25,00	0 U.S. Treasury	101.87	25,466.75	98.37	24,593.7	5 1.4 2.125	531.25	2.2
	Bond							
	2.125% Due 09-30		25 629 60	07.94	24,459.9	5 1.4 2.125	531.2	5 2.2
25,00	0 U.S. Treasury	100.15	25,038.09	91.04	24,400.0	0 11-7 21 124	, 00 ,,=	
	Note 2.435% Due 06.30	1 22						
20.00	2.125% Due 06-30 0 U.S. Treasury		20 927.34	97.49	19,497.6	6 1.1 2.12	425.0	2.2
20,00	Note	104.04	20,021101	• • • • • • • • • • • • • • • • • • • •				
	2.125% Due 12-31	1-22						
40.00	00 U.S. Treasury		40,479.69	99.96	39,984.3	36 2.3 2.75	1,100.0	0 2.8
,	Note							
	2.750% Due 11-15		5.000.51	400.00	25.040.0	30 1.5 2.87	5 718:7	5 2.9
25,00		99.71	24,928.71	100.20	25,049.8	DU 1,0 2,07	3 710.7	2.0
	Note	E 20						
For Inform	2.875% Due 05-1	0-20						

For Information Only
Official records for the account provided by custodian.
Contact reports@marshfieldinc.com with any questions.

PORTFOLIO APPRAISAL

All Saint's Church Perpetual Memorial Fund ACCT # 95600809

Quantity	Security .	Unit Cost	Total Cost	Price	Market Value	Pct. Assets l	Unit ncome	Annual Income	Cur. Yield
					1,201.07	0.1			
	Accrued Interest	2.77	301,128.75		294,656.07	17.1	-	6,900.00	2.4
CORPORATE	RONDS								
	MDC Holdings Inc 5.625% Due 02-01-	97.75 20	14,662.50	102.80	15,420,00		5.625	843.75	5,5
10,000	Goldman Sachs Group Inc	119.13	11,912.60	105.17	10,516.90	0.6	6.000	600.00	5.7
5,000	6.000% Due 06-15- O'Reilly Automotive Inc	107.85	5,392.50	103,30	5,165,10	0.3	4.625	231.25	4.5
10,000	4.625% Due 09-15- Devon Energy Corp	99.69	9,968.70	98.30	9,830.18	0.6	3.250	325.00	3.3
10,000	3.250% Due 05-15- Verisk Analytics Inc	96.57	9,657.20	101,84	10,184.34	0.6	4.125	412.50	4.1
15,000	4.125% Due 09-12 NVR Inc	101.09	15,164.25	100.78	15,116.40	0.9	3.950	592.50	3.9
10,000	3.950% Due 09-15 Leucadia National Corp	-22 105.17	10,516.90	103.34	10,333.52	0.6	5.500	550.00	5,3
15,000	5.500% Due 10-18 Ross Stores Inc	99.03	14,854.50	98.73	14,810.02	0,9	3.375	506,25	3.4
20,000	3.375% Due 09-15 Vulcan Materials Co	104.87	20,973.20	101.26	20,252.00	1.2	4.500	900.00	4.4
5,000	4,500% Due 04-01 Verisk Analytics Inc	-25 99.18	4,958.95	98,59	4,929.60	0.3	4.000	200.00	4:1
5,000	4.000% Due 06-15 Goldman Sachs Group inc	5-25 99.74	4,987.05	94.22	4,711.0	7 0.3	3,500	175.00	3.7
10,000	3.500% Due 11-16 Arch Capital Finance LLC	101.67	10,166.80	98.80	9,879.8	6 0.6	4.011	401.10	4.1
10,000	4.011% Due 12-15 Martin Marietta Material	99.98	9,998.00	93,03	9,303.0	6 0.5	3,450	345.00	3.7
	3.450% Due 06-0	1-27			1,350.1	3 0.1	l		
	Accrued Interest		143,213.15		141,802.1		_	6,082.3	5 4.3
COMMON		7.04	34 E 42 OE	26.46	105,496.0)2 6.°	1 0.000	0.0	0.0
,	7 Arch Capital Group Ltd	7.91	31,543.95		66,422.0		9 0.000	0.0	
For Informa	Autozone Inc. tion Only ords for the account provider	553.87 ded by custodiar	54,833.16	670.93	00,422.5	,, J.:	5 0.000	5.0	,,

PORTFOLIO APPRAISAL

All Saint's Church Perpetual Memorial Fund ACCT # 95600809

Quantity	Security	Unit Cost	Total Cost	Price	Market Value	Pct. Assets	Unit Income	Annual Income	Cur. Yield
180	Chipotle Mexican Grill Cl A	345.36	62,164.93	431.37	77,646.60	4.5	0.000	0.00	0.0
220	Cummins Inc	111.55	24,540.33	133.00	29,260.00	17	4.320	950.40	3.2
500	Deere & Co.	82.99	41,494,44	139.80	69,900.00		2.760	1,380.00	2.0
975	Expeditors International of Washington Inc	43.38	42,295.19	73.10	71,272.50	4.1	0.900	877.50	1.2
1,080	Fastenal Co	26.30	28,402.74	48.13	51,980.40	3.0	1.280	1,382.40	2.7
405	Goldman Sachs Group Inc	133.25	53,964.30	220.57	89,330.85	5.2		1,296.00	1.5
310	Mastercard Inc Class A	45.52	14,111.69	196,52	60,921.20	3.5	1.000	310.00	0.5
775	Moody's Corp.	38.65	29,956.45	170.56	132,184.00	7.7	1.520	1,178.00	0.9
11	NVR Inc	526.59	5,792.512	2,970.35	32,673.85	1.9	0.000	0.00	0.0
185	O'Reilly Automotive Inc	176.03	32,564.96	273.57	50,610.45	2.9	0.000	0.00	0.0
541	Ross Stores Inc	46.87	25,358.65	84.75	45,849.75	2.7	0.900	486.90	1.1
408	Strayer Education Inc	49.99	20,394.72	113.01	46,108.08		1.000	408.00	0.9
543	Union Pacific Corporation	63.16	34,296.22	141,68	76,932.24	4.5	2.920	1,585.56	2.1
460	Visa Inc CI A	52,69	24,236.75	132,45	60,927.00	3.5	0.840	386.40	0.6
238	Waters Corp	75.06	17,865.31	193.59	46,074,42	2.7	0.000	0.00	0.0
956	YUM! Brands Inc	6.19	5,913.07	78.22	74,778.32	4.3	1.200	1,147.20	1.5
			549,729.38		1,188,367.75	69.0		11,388,36	1.0
TOTAL POR	TFOLIO		1,090,300.77		1,721,055.51	100.0		24,515.05	1.4

Marshfield Associates ALL SAINTS CHURCH INVESTMENT FUND ACCT #95600811

June 30, 2018

PORTFOLIO COMPOSITION

CHANGE IN PORTFOLIO

	Market Value	Pct. Assets	Est. Income		
Cash Equivalents Fixed Income Equities Mutual Funds Other	21,398.56 123,659.71 259,237.22 0.00 0.00	5.3 30.6 64.1 0.0 0.0	32 3,540 2,669 0	Portfolio Value on 03-31-18 Accrued Interest Net Additions/Withdrawals Realized Gains Unrealized Gains Income Received Management Fees Change in Accrued Interest	399,196.67 599.70 -39.81 0.00 3,811.97 1,522.82 -999.49 203.63
Total	404,295.49	100.0	6,241	Portfolio Value on 06-30-18 Accrued Interest	403,492.15 803.33 404,295.49
				Total Fees	-999.49

TIME WEIGHTED RETURN

	Quarter To Date	Year To Date	Inception 03-26-93 To Date
Account	1.14	1.99	1,001.25
Equities	2.15	3.85	2,503.98
S & P 500	3.43	2.65	902.15
Fixed Income	0.05	-0.79	237.89
Barclays Interm. Gov/Credit	0.01	-0.97	220.60

PORTFOLIO APPRAISAL

ALL SAINTS CHURCH INVESTMENT FUND ACCT #95600811

June 30, 2018

0 444	Saranita	Unit Cost	Total Cost	Price	Market Value	Pct. Assets I	Unit ncome	Annual Income	Cur. Yield
Quantity	Security	Cost	COST		Value	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			
CASH									
CASII	Cash		21,398.56		21,398.56	5.3	0.150	32.10	0.1
		-	21,398.56		21,398.56	5.3		32,10	0.1
GOVERNME					5 004 00	4.0	2.250	110 50	2.2
5,000	U.S. Treasury	103.67	5,183.40	100.03	5,001.69	1.2	2.250	112.50	2.2
	Note	4.0							
5 000	2.250% Due 07-31-		5,156.84	100.31	5,015.43	12	2,750	137.50	2.7
5,000	U.S. Treasury Note	103.14	5,150.04	100.51	0,010.40		2,100	101,00	••••
	2.750% Due 02-15-	19							
4 000	U.S. Treasury		3,844.53	98.39	3,935.62	1.0	0.875	35.00	0.9
1,000	Note								
	0.875% Due 07-31-	19							4.5
5,000	U.S. Treasury	101.44	5,072.07	98.76	4,937.89	1.2	1.500	75.00	1.5
	Note	69					- 0		
	1.500% Due 10-31-		E 150 50	101.76	5,087.89	1 3	3.500	175.00	3.4
5,000	U.S. Treasury	103.07	5,153.52	101.70	3,007.03	1.0	0.000	170.00	0 . 1
	Note 3.500% Due 05-15-	20							
5 000	U.S. Treasury		4,988.28	99.48	4,974.02	1.2	2.375	118.75	2.4
5,000	Note	0011	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						
	2.375% Due 12-31-	20							
5,000	U.S. Treasury		5,003.91	98.27	4,913.47	1.2	2.000	100.00	2.0
	Note								
	2,000% Due 05-31			00.05	0.005.00	24	2 000	200.00	2.0
10,000		101.16	10,115.63	98.05	9,805.08	2.4	2.000	200.00	2.0
	Note	71							
E 000	2.000% Due 08-31- U.S. Treasury	101.87	5,093.35	98.37	4,918.75	1.2	2.125	106.25	2.2
5,000	Bond	101101	5,000.00	50.01	.,0.10,1				
	2.125% Due 09-30	-21							
10.000	U.S. Treasury		10,463.67	97.49	9,748.83	3 2.4	2.125	212.50	2.2
	Note								
	2.125% Due 12-31						0.750	075.00	20
10,000		101.20	10,119.92	99.96	9,996.09	2.5	2.750	275.00	2.8
	Note	00							
	2.750% Due 11-15		9,971,48	100.20	10,019.93	2.5	2.875	287.50	2.9
10,000	U.S. Treasury	99.71	5,571,40	100.20	10,010.0		2,010		735
- 000	Note 2.875% Due 05-15	-28							
	Accrued Interest				323.9	4 0.1			
			80,166.60		78,678.6			1,835.00	2.3

For Information Only
Official records for the account provided by custodian.
Contact reports@marshfieldinc.com with any questions.

PORTFOLIO APPRAISAL

ALL SAINTS CHURCH INVESTMENT FUND ACCT #95600811

		Unit	Total		Market	D-4	l limite	A 1	
Quantity	Security	Cost	Cost	Price	Value	Pct. Assets	Unit Income	Annual Income	Cur. Yield
									11010
CORPORAT									
5,000	O'Reilly Automotive Inc	107.85	5,392.50	103.30	5,165.10	1,3	4.625	231.25	4.5
E 000	4.625% Due 09-15		4 00 4 05						
5,000	Corp	99,69	4,984.35	98,30	4,915.09	1,2	3.250	162.50	3.3
5 000	3.250% Due 05-15- Verisk Analytics		4 000 00	404.04					
5,000	Inc 4.125% Due 09-12-	96.57	4,828.60	101,84	5,092.17	1,3	4,125	206.25	4.1
10.000	NVR Inc	-22 103.42	10 241 05	100.70	40.077.00	0.5	0.050		
,	3.950% Due 09-15-	-22	10,341,85	100.78	10,077.60	2.5	3,950	395.00	3.9
5,000	LLC	106,16	5,308,25	103.95	5,197,26	1.3	5,125	256.25	4.9
5 000	5.125% Due 01-20-								
	Ross Stores Inc 3.375% Due 09-15-	99.03 24	4,951.50	98.73	4,936,67	1.2	3,375	168.75	3.4
5,000	TJX Companies Inc	99.04	4,952.25	89,32	4,466.25	1.1	2.250	112.50	2.5
	2.250% Due 09-15-	26							
5,000	Martin Marietta Material	99.98	4,999.00	93,03	4,651.53	1.2	3.450	172.50	3.7
	3.450% Due 06-01-	.27							
	Accrued Interest	21			479.40	0.1			
			45,758.30		44,981.08	11.1	_	1 705 00	
			45,750,50		44,501.00	11.1		1,705.00	3.8
COMMON ST	тоск								
891	Arch Capital Group Ltd	8.40	7,485.73	26.46	23,575.86	5.8	0.000	0.00	0.0
20	Autozone Inc.	548.60	10,971.97	670.93	13,418.60	3.3	0.000	0.00	0.0
41	Chipotle Mexican Grill Cl A	334.28	13,705,44	431,37	17,686.17		0.000	0.00	0.0
95	Cummins Inc	102.40	9,728.47	133.00	12,635.00	3.1	4.320	410.40	3.2
110	Deere & Co.	84.12	9,253.18	139.80	15,378.00		2.760	303.60	2.0
149	Expeditors	42.57	6,342.80	73.10	10,891.90		0.900	134.10	1.2
	International of				100			21	11.
	Washington Inc		22						
241	Fastenal Co	24.33	5,864.47	48.13	11,599.33	2.9	1.280	308.48	2.7
61	Goldman Sachs	122.26	7,457.93	220.57	13,454.77		3.200	195.20	1.5
	Group Inc				•				0
107	Mastercard Inc Class A	36.98	3,956.46	196.52	21,027.64	5.2	1.000	107.00	0.5
208	Moody's Corp.	37.19	7,734.97	170.56	35,476.48	8.8	1.520	316.16	0.9
2	NVR Inc	528.63	1,057.27 2	970.35	5,940.70		0.000	0.00	0.0
40	O'Reilly	176.02		273.57	10,942.80		0.000	0.00	0.0
	Automotive Inc				, .====	-07		3,00	7.1
For Informatio		46.82	5,618.20	84.75	10,170.00	2.5	0.900	108.00	1, 1
Official records Contact report	s for the account provided s@marshfielding.com wit	d by custodia th any question	n. ons						

PORTFOLIO APPRAISAL

ALL SAINTS CHURCH INVESTMENT FUND ACCT #95600811

Quantity	Security	Unit Cost	Total Cost	Price	Market Value	Pct. Assets	Unit Income	Annual Income	Cur. Yield
83	Strayer Education	51.38	4,264.38	113.01	9,379.83	2.3	1.000	83,00	0,9
122	Union Pacific Corporation	67.96	8,291.26	141.68	17,284.96	4.3	2.920	356.24	2.1
100	Visa Inc Cl A	52.69	5,269.30	132.45	13,245.00	3.3	0.840	84.00	0.6
219	YUM! Brands Inc	6.19	1,354.83	78.22	17,130.18	4.2	1.200	262.80	1.5
			115,397.62		259,237.22	64.1		2,668.98	1.0
TOTAL PORTFOLIO			262,721.08		404,295.49	100.0		6,241.08	1.5